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LUO05.LO07 - Vigenere-Verschliusselung
programmieren

Version 1

def vigenere encrypt(text, key):
result = ""
key = key. ()

key index = 0

for char in text:

if char. ():
start = ord('A"') 1f char. () else ord('a')
shift = ord(key[key index % len(key)]) - ord('za')

result += chr(({ord{char) - start + shift) % 26 + start)
key index += 1
else:
result += char
return result

def vigenere decrypt (text, key):
result = ""
key = key. ()
key index = 0

for char in text:

if char. ():
start = ord('A') i1f char. () else ord('a"')
shift = ord(key[key index % len(kesy)]) - ord('a')

result += chr((ord{char) - start - shift) % 26 + start)
key index += 1
else:
result += char
return result
# Hauptprogramm
if name == " main
eingabetext = input("Geben Sie den Text ein: ")

" LI "o
-

schluessel = input("Geben Sie den Schliissel ein: ")
verschluesselt = vigenere_encrypt (eingabetext, schluessel)

entschluesselt = vigenere decrypt(verschluesselt, schluessel)

print ("'nVerschliisselt:", werschluesselt)
print ("EFnt=schliisselt:", entschluesselt)
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def vigenere encrypt (text, key):
result = ""
key = key. low=r()
key index = 0

for char in text:

if char.iszalpha():
shift = ord(keyl[key index % len(key)]) - oxd('z"')
start = ord('A") if char.izupper() else oxd('za'")
result 4= chr((ord(char) - start + shift) % 26 + start)
key_index += 1
else:

result 4= char
return result
def vigenere decrypt(text, key):

key = key.low=r()
key index = 0

for char in text:

if char.i=zalpha():
shift = ord(key[key index % len(key)]) - oxd('za")
start = ord('A"') if char. i=up () else oxrd('a")

result 4= chr((ord(char) - start - shift) % 26 + start)
key index += 1
else:
result 4= char
return result

# Hauptprogramm

if name == " main ":
eingabetext = input("Geben Sie den Text ein: ")
schluessel = input("Geben Sie das Schlisselwort ein: ")
verschluesselt = vigenere encrypt(eingabetext, schluessel)
entschluesselt = vigenere decrypt(verschluesselt, schluessel)
print("\nVerschlisselt:", verschluesselt)
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